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Set-off of unabsorbed capital expenditure 2,00,000
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You are required to take in-depth knowledge of this topic

hp 1
Typewriter
13 Total marks 
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Your overall performance is not good. Try hard to achieve more score in exams. Revise all your previous topics at least once in a week rather allocate a day in a week for revision and evaluating your performance. This will help you memorize topics and bind out shortcomings in your preparation.
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You are failed to properly explain the required parts of this question. Do revise the whole concept.
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MY PC
Typewritten Text
application of the provision is not accurate
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here a appropriate disclosure note is missing
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Less: items of business income which are in the nature of

ancillary profits and hence, do not constitute profit ‘derived

from’ business for the purpose of exemption u/s 10AA
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You are unable to interpret the whole concept properly. Revise to mark good scores.
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1.5 marks 
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Typewritten Text
wrongly calculated, sales part is wrong as per questions wording
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House 1 56,000
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House 2                                             1,26,000
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adjusting points are not properly cracked, consider all the factors properly for accurate calculations
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MY PC
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wrongly calculated
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application of the provision is wrong
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Interest on debentures of IFCI 16,000
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Long term capital gain on transfer of

debentures

40,000
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You are required to take in-depth knowledge of this topic, Practice to understand concept deeply
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approach is wrong
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wrongly adjusted the interest part here
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wrongly added both the parts
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wrong steps created
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basic points are wrong
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proper justifications are missing 
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Fixed assets sale [Rs. 41 lakh – Rs. 2 lakh] 39,00,000
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do practice again on this question some required calculations are missing in your answer
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